
eTable 1.  Results of multivariate Cox regression for hazard of primary endpoint:  fully adjusted model   
 

Parameter   Hazard  95% Hazard Ratio 
Confidence 

p-value p-value compared 
with reference 

Ratio Limits  

Treatment  ARB 1.02 0.80 1.31 0.88  

Albuminuria (mg/g 
creatinine in log 

scale) 

  1.66 1.46 1.90 <0.001  

SBP (mmHg) < 120 0.73 0.41 1.31 0.040 0.29 

 120-129 1    Reference 

 130-139 1.16 0.85 1.59  0.36 

 140-149 1.50 1.03 2.17  0.03 

 >=150 1.63 1.01 2.64  0.05 

DBP (mmHg) < 60 1.31 0.84 2.05 0.006 0.24 

 60-69 0.96 0.71 1.28  0.76 

 70-79 1    Reference 

 80-89 1.6 1.09 2.39  0.02 

 >=90 4.74 1.58 14.18  0.005 

eGFR 
(mL/min/1.73m2) 

  1.01 1 1.01 0.06  

Age (years)   1 0.98 1.02 0.98  

Race White 1.62 0.79 3.35 0.43 0.19 

 Black 1.68 0.80 3.54  0.17 

 other 1    reference 

Coronary Heart 
Disease 

  1.03 0.79 1.33 0.83  

Diuretic Use    1.02 0.77 1.36 0.88  

BMI (kg/m2)   0.99 0.97 1.01 0.21  

CHF   1.09 0.78 1.53 0.61  

Hemoglobin (g/dL)   0.85 0.79 0.92 <0.001  

HbA1c (%)   1.05 0.95 1.15 0.34  

HDL (mg/dL)   1 0.99 1.01 1.00  

LDL (mg/dL)   1.00 1.00 1.01 0.15  

 
   



eFigure 1.  Univariate hazard ratios of primary endpoint, secondary endpoint and mortality for 

categorical baseline SBP and DBP.   A.  Baseline SBP:  p=0.35 for equal hazard of primary endpoint 

among all SBP groups;   p=0.05 for equal hazard of secondary endpoint among all SBP groups;  p=0.65 

for equal hazard of mortality among all SBP groups.  B.  Baseline DBP:  p=0.22 for equal hazard of 

primary endpoint among all DBP groups;  p =0.027 for equal hazard of secondary endpoint among all 

DBP groups;   p=0.09 for equal hazard of mortality among all DBP groups. 
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eFigure 2.  Univariate hazard ratios of primary endpoint, secondary endpoint and mortality for 

categorical last SBP and DBP.   A.  Last SBP:   p=0.23 for equal hazard of primary endpoint among all SBP 

groups;   p=0.16 for equal hazard of secondary endpoint among all SBP groups;  p=0.73 for equal hazard 

of mortality among all SBP groups.  B.  Last DBP:  p=0.60 for equal hazard of primary endpoint among all 

DBP groups;   p =0.12 for equal hazard of secondary endpoint among all DBP groups;   p=0.88 for equal 

hazard of mortality among all DBP groups. 
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